‘_ﬂ

Free Flow Exhaust Installation Instructions

PART NUMBER
D660-0050 & D660 -0050-BLK

APPLICATION: 201517 F80 M3
201517 F82 M4

Thank you for purchasing a Dinan High Performance Muffler! Some mechanical skill is required
install this muffler. If you are not familiar with this procedure, we strongly recommend that you
arrange for a qualified BMW repair facility to perform this installation.

INSTAL LATION:

INS6600050¢BLK) Pagel of 10 Rev 10/1016



1. Disconnect the battery using BMW factory proceduir@sake sire the car is asleep)

2. Disconnectboth valve actuatcs.

3. Support the mufflesecurelywith ajack orastand hen cut the stock muff
weld on theY-pipe as shown ifrigures 1 & 2. Before cuttingthe stock muffler hold
DINAN muffer underneath stock muffler to verify the stock pipe will not be cubtshort!

INS6600050¢BLK) Page2 of 10 Rev 10/1016



Figure 2

Cut here,
16 aw
from weld

4. With the stock muffler fullysecure andgsupported on a jack or standemove the hanger nuts
as shownSAVE THESE NUTS FOR INSTALLATION OF DINAN MUFFLERign remoe
stock muffler. Be sure exhaust valve actuatare disconnected before finally removing the
muffler.

Remove hanger
nuts.
SAVE THESE
FOR
INSTALLATION
OF DINAN
MUFFLER!

..........

INS6600050¢BLK) Page3 of 10 Rev 10/1016



5. Remove stock hangers and valve actuators from stock muf8&\VE THE HANGERS
HANGER MOUNTING NUTS, ACTUATOR PLATESND ACTUATORS FOR

INSTALLATION OF DINAN MUFFLER!

SAVE THESE STOCK
PARTS!

Remove both hangers and both
actuators. SAVE HANGERS,
HANGER NUTS, ACTUATOR

PLATE AND ACTUATORS!

T

~7 =~
-

Rev 10/1016

Paget of 10

INS6600050¢BLK)



6. Install both stock hangsionto DINAN muffler usinghe stock hanger nut that was saved from
removal.

Install hangers onto
DINAN muffler.
Tighten nuts.

7. Installthe valve actuator mounting brackepsovided in the hardware kias shown below You
will need(6) M6x20 bdts, (6) M6 locknuts and(12) M6 washes from the hardware kit
provided to install both mounting bracket®otice the location of the spaceior mounting the
actuator in the next step Make sure all hardware is tight.

M6x20 bolts, M6 nuts |
with M6 washers on
both sides

Spacer
location

INS6600050¢BLK) Pages of 10 Rev 10/1016



8. Install stock actuatorsmmo DINAN muffler. You will need(4) M6x20 bolts,(2) M6x30 bolts,
(6) M6 locknuts, (12) M6 washersand(2) spacers from the hardware kit providedJse picture
below for correct orientation of spring.While holding the spring ithe sloton the valveplace
the actuator(with actuator plate) onto springMount the actuator to the mounting bracket
using the provided hardwareBefore you fully tighten bolts make sure shafts are aligned (see
photo). If the stock actuator shaft slot is in a different ation then picturel below, simply
turn the valve shaft slabn the muffler to line them upMake sure all hardware is tightHE
SPRING MUST BE
SECUREL$SEATEDN
BOTH THE SLOT IN
THE VALVE AND THE
SLOT IN THE
ACTUATOR!!

Actuator and
actuator plate

Short hook on
spring goes on
valve end

M6x30 bolt
location

- | Spacer
B

/ x5S

—

INS6600050¢BLK) Pages of 10 Rev 10/1016



DINAN muffler ready to
mount on the car

Make sure all
hardware is tight!

9. Placeexhaust clampprovided in the hardware kibnto the ends of thestock exhaust pipes.
With DINAN exhaust secured on a jack or stanput the muffler in place When mounting the
muffler it should be held with the tips up near the bumper and the muffler pushed forward
againsthe ends of the stock pipes.

Exhaust clamps

INS6600050¢BLK) Page7 of 10 Rev 10/1016



